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Quiz, Sections 2.3 March 27,2009
No calculators allowed. Show all work neatly. You do not need to simplify your answers, but
you may do any correct algebraic simplifications before you find the indicated derivatives.
1. Find the first derivative of each of the following functions, usmg any correct techmque
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2. Find the ﬁrst and second derivatives of the function: f(x) = x*(7x? —3x)
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No calculators allowed. Show all work neatly. You do not need to simplify your answers, but
you may do any correct algebraic simplifications before you find the indicated derivatives.

1. Find the first derivative of each of the followingfunctions, using any correct technique. ——-——
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2 Find the first and second derivatives of the function: f(x)=x (10x* - 5x)
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